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Time : 2V2 Hours

Answer any four questions. Each question carries 2 marks.
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IV Semester B.Sc. Examination, August/September 2023
(NEP Scheme)
ECONOMICS

DSC 4.2 : Time Series Econometrics

Instructions : 1) Answer should be precise.
2) Answer any four questions from each Part.

PART - A

CIRIPTRTTR TV, T3 N9 LUZ0R. 8 T3 7T FTR wosnsd.

1.

What is Partial Auto Correlation Function (PACF) ?

T ARZRO0WOT Wows (PACF) 20omsded 2

Write the equation for Auto Regressive Moving Average (ARMA) of order p, q.
[ARMA(p, q)].

P, g 330330, @eohicds [ARMA(p, q)1= A 2030 B¥ORIT FoeR00D (ARMA)
xwwm@ WBOWD. :
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Find the eigen value or characteristics roots of the matrix A =l: } )
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#
What is simultaneous equation model ?
QTFTODT FLCTTED TRTO AOTTE0 ?
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What is stationary time series ?
RTORY  To0F, 085 20TTER 2
@ @

What is random walk model ?
035&65@‘2%% SBO TNTO QO0TTER ?
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PART - B

Answer any four questions. Each question carries 5 marks. (4x5=20)
3INT CINRTOTTR Tewy, BINRER GvZdR. F3 TIN5 w0

7.

10.

11.

12.

Explain the role of lags in dynamic econometric models.

R3dew SRFIDNTTTIAT TRTOCDY, &I B3 T, TR, WWOA.

Given MA(2) model, Y, = u, + 84u; _ 1 + 85U, _,, Ccalculate mean of Y,. Here u;
is a zero mean white noise process.

MA(2) SRTOSSRT Yy = Uy + BqU; _ 1 + Byl _ 5, Yy 030 TTIBOODRY Sems. 0
U, 202083 BRT, BRGT0 38 DY 8, 0300RNT.

What is cointegration ? How does cointegration affect the specification of a
regression model ?

RR-F0030ez 0TTeRD ? S023OBCI FRTOOIRY, VT edRITN Do-Boodeexsodn
T T, LR ?

Show algebraically that an AR(1) process is equivalent to a MA(e) process.
AR(1) B,3,0300300 MA(e0) ,3,0307 ITHTINTIZTS 0T WEWNEFS0 TRVT 2

Explain the difference between autoregressive and moving average process.

:’c)séoozé@zi 2030 zsm"\"‘as TR ,3,030N% TERORVT :325% Nﬁm NRD.

Write a short note on Aimon’s distributed lag model. .
QT THT WBTECD &3 T BRTOCDL Wi} 2,073 3T £333£3030, LITEUWO.
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PART -C

Answer any four questions. Each question carries 8 marks. (4%8=32)
CIRPTRTTR T, TINER w00, Fé TIT 8 SoBTI.

13.

Discuss the Auto Regressive Integrated Moving Average (ARIMA) model and
its applications in time series analysis. Provide an example of how to identify
the appropriate order of an ARIMA model for given dataset.

80230 Boodeeeds B3ORm FToR0 (ARIMA) TSRO0 wr‘}’\ 23282 WOBD T, eed
:b@i AEBODY, TWT BT 23WFRD. TR TIT weoznent ARIMA S»ToR
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14. Explain Box-Jenkins methodology for time series modelling. Outline the steps
involved in this approach.
TOZ, 068 TRTOCHE), LT ~WOST | RSHRY AR0R. DPIITY | wSRR0RTIT
503?1@55;{ DO,

15. Describe the Engle-Granger two step cointegration step. How does it work and
what are its limitations ?
RONS* -7, 0BT TRT 283> Bozs A% -Foodmezssod TOBTT), TOR. AT Berd Fom
DRI W 3T ENTOR)R) ?

16. What are Instrumenta] Variables (IVs) in the context of simultaneous equations ?
How are instrumental variables used to address endogeneity ?
TFOT BT IR ROTRITTE) BeBTesendd w3esre CIRTDY) ? FBTe3e0 23z
@otﬁmeﬁ@&@b&g{ TOTOTL Teri FZFOGCHAZ ?

17. Provide an example of two cointegrated variables in economic context and
explain how you would interpret their long run relationship.
@Zﬁrmg 93 Slot CNTTEY, 2T BB -Z003Rews BOING mm&ﬁds“é’odoa‘g{ WTNY DNSEY
DRING DeTFoETO ﬁowozﬁﬁ&gt e Jerk @C;é FROE e @omzs’s:;t Ave))

18. How does the Auto Regressive (AR) model differ from the Moving Average
(MA) model in the context of dynamic time series analysis ? Write the mean,
variance and covariance of AR(1) and MA(1) model.

Néde® F03, eedo SoNes s atzlovel ) R&0BOT (AR) Inso W0 BT FoeKo
(MA) S»z0030 et WIS 2 AR(1) @08 MA(1) SRT00% eozrRess mwgs
QWOF DNSES xa&wwﬁgﬁ@i WB0WD.



